
Unit B1, B1.1.1 

Diet and exercise 

1. This question is about food and energy. 

(a) Which person is likely to need the least amount of food? 

Person  Amount of exercise  Temperature of country 
where person lives  

1  high  warm  

2  high  cold  

3  low  warm  

4  low  cold  

 The bar chart shows the amount of energy used by a teenager. 
BMR is the amount of energy needed to keep the teenager alive. 

Other uses

BMR

Physical activity

1000080006000400020000
Energy used in kilojoules (kJ) per day  

(b) What is the total amount of energy used by the teenager in one day? 

1 1600 kJ 

2 4000 kJ 

3 8400 kJ 

4 14 000 kJ 

(c) What is likely to happen if the same teenager takes in 17 000 kJ each day? 

The teenager would . . . 

1 gain mass. 

2 gain height. 

3 become fitter. 

4 be hungry all the time. 
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2. In each part choose only one answer. 

 The table is from the label on a loaf of sliced bread. 

Nutrition information Guideline daily amounts 

Typical values Per 100 g Per slice Women Men Children (5–10 years) 

energy (kJ) 2144 658 8500 10 500 7500 

protein (g) 4.0 1.2 75 95 65 

carbohydrate (g) 55.1 16.9 230 300 220 

fat (g) 22.6 7.0 70 70 50 

salt (g) 0.9 0.3 5 6 4 

Other information 

Keep an eye on your salt intake 

Generally a low fat diet is good for you 

If possible take 30 minutes of brisk exercise each day 

A For which food type is the guideline daily amount the same for men and women? 

1 carbohydrate 

2 fat 

3 protein 

4 salt 

B A woman ate two slices of bread for breakfast. 

 What proportion of the daily guideline amount of fat did she eat? 

1 
14
1

 

2 
10
1

 

3 
7
1

 

5
1

 4 
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C Table 1 shows the amount of energy used for different levels of exercise. 

Table 1 

Level of exercise Energy used in kilojoules per hour 

light exercise 620 

moderate exercise 1200 

vigorous exercise 2760 

 Table 2 shows a person’s weekly exercise routine. 

Table 2 

 Type of exercise in minutes 

Day of week Light Moderate Vigorous 

Monday 20 20 20 

Tuesday 30 30 20 

Wednesday 30 30 20 

Thursday 30 30 20 

Friday 30 30 20 

Saturday 30 30 20 

Sunday 30 20 20 

 What is the total amount of energy used by this person on Tuesday and Wednesday 
together? 

1 3460 kilojoules 

2 3660 kilojoules 

3 3760 kilojoules 

4 4580 kilojoules 

D The link between exercise and nutrients in food is . . . 

1 the less exercise you take, the less energy you need. 

2 the less exercise you take, the more carbohydrate you need. 

3 the less exercise you take, the more protein you need. 

4 the more exercise you take, the less salt you need. 

 

   Page 3 of 6 

 



Unit B1, B1.1.1 

3. In each part choose only one answer. 

 A survey was carried out to measure the blood cholesterol concentrations in the blood of women of 
different ages. The women had been instructed not to eat for 12 hours before having their blood 
sample taken. The results are shown in the bar chart. 

4.0

5.0

6.0

4.5

5.5

7.0

6.5

15–24 25–34

Age range in years

Mean blood
cholesterol

concentration
in milligrams

per litre

35–44 45–54 55–64 65–74 75 and
over

 
A The concentration of cholesterol in the blood is . . . 

1 a categoric variable. 

2 a continuous variable. 

3 a discrete variable. 

4 an ordered variable. 

B What is the difference in the mean concentration of cholesterol in the blood between a 
woman in the age range 25–34 and a woman in the age range 55–64? 

1 0.4 milligrams per litre 

2 0.5 milligrams per litre 

3 0.6 milligrams per litre 

4 5.0 milligrams per litre 

C The women were instructed not to eat for 12 hours before the blood sample was taken. 
What is the reason for this? 

1 It is risky taking blood samples when blood cholesterol concentrations are high. 

2 Blood samples can only be taken when all the cholesterol in food has been absorbed 
into the blood. 

3 All the cholesterol in the body will be excreted. 

4 To reduce any effects on the blood samples of food eaten recently. 

D Which one of the following would have been the best way to choose the women taking part 
in the trial? 

1 ask randomly selected women whether they would like to take part in the trial 

2 record the data collected when women ask to have their cholesterol concentration 
measured 

3 send a questionnaire to every woman in a certain postal district 

4 secretly collect data from blood samples taken for other reasons 
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4. The surface area of an adult male can be estimated by using this nomogram. 

 A straight line is drawn from the man’s height to his body mass. His surface area is then read off 
where the line crosses the surface area scale. 

 Data for four men, W, X, Y and Z, is plotted on the nomogram. 

 

(a) The man with an estimated surface area of 1.71 m2 is . . . 

1 W. 

2 X. 

3 Y. 

4 Z. 

(b) Why would this nomogram not give accurate results for a woman? 

1 Women are generally shorter than men. 

2 Women generally weigh less than men. 

3 Women exercise more than men. 

4 Women are generally a different shape from men. 
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(c) The actual surface area of a man depends mainly on . . . 

1 his body mass. 

2 his height. 

3 his body mass and his height. 

4 factors other than his body mass and height. 

(d) Man Z goes on a slimming programme. 

 Which of the following is likely to be affected by the programme? 

1 his mass only 

2 his height and his mass 

3 his mass and his surface area 

4 his height and his surface area 
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